' ' m Thor Motor Coach

MOTOR COACH Recall Repair Instructions
18V-120
Recall #
eea 2018-101
Description/Title: 29J Outlaw Seat Belt Bracket
Affected Product Line(s): Certain MY 2018 & 2019 29J Outlaw motorhomes
Service Campaign # : RC000151 Released Date: 04/02/2018
Repair Code: TMCRC80472V Document Date: 04/02/2018
Time Allowed: 0.67 Document Revision: A

Issue:

It has been discovered that on Certain MY 2018/2019 29J Outlaws, the sofa seat belt bracket does not
meet the strength requirements of FMVSS/CMVSS 210.

Part(s) Required:

TMC Part #0418139 — Recall RC000151 Sofa Seatbelt Install Kit
Kit Includes: Bracket, Seatbelt Rear (Print TFM5489)

Bracket, Seatbelt Front (Print TFM5492)

Angle, Frame Reinforcement (Print TFM5493)

Plate, Frame Reinforcement (Print TFM5490)

Instructions:

1. Locate the sofa on the passenger side of the motorhome.

Thor Motor Coach
1-877-500-1020
Recall # 18V-120/2018-101
Page 1



' ' m Thor Motor Coach

MOTOR COACH Recall Repair Instructions

2. Remove the sofa arm rests, then lift the seat up enough to access and remove the screws securing the kickboard to the
sofa frame.

Thor Motor Coach
1-877-500-1020
Recall # 18V-120/2018-101
Page 2



' ' m Thor Motor Coach
Recall Repair Instructions

MOTOR COACH

4. Remove and discard the 4 seatbelt bolts from the seatbelt bracket.

5. Add the Frame Reinforcement Angle (print TFM5493) on top of the seatbelt bracket with the bolt holes aligned.
Position the vertical leg of the angle so it’s against the sidewall. Reinstall the 2 seatbelts with 4 NEW 3/8”-16 x 1 ¥%2”
grade 5 bolts as specified on the assembly drawing (print TFM5491). Use the included 3/8-16 grade 5 nuts,

flat washers, and lock-washers. Torque the 4 bolts to 18-25 ft-Ibs.

Thor Motor Coach
1-877-500-1020
Recall # 18V-120/2018-101
Page 3



' ' m Thor Motor Coach

MOTOR COACH Recall Repair Instructions

6. Install the front (print TFM5492) and rear (print TFM5489) seatbelt bracket reinforcements using the bolts and
reinforcement plates (print TFM5490) specified on assembly drawing (print TFM5491). The reinforcement plates
will be used to clamp the front and rear brackets to the existing seat belt bar. Torque the bolts to 18-25 ft-1bs.

(Rear bracket) (Front bracket)

7. Reinstall kickboard, seat back, and removable arm rests.

Thor Motor Coach
1-877-500-1020
Recall # 18Vv-120/2018-101
Page 4



' ' m Thor Motor Coach

MOTOR COACH Recall Repair Instructions

(2

ISVITIY TWLLINI

NOILd™DS30

1
[
00022

D00°EE
00081

N
X}
=l
o

oS00

'*_DEIE—"|

BHSIE
Jiva

0sL71 """l

11.250 —J P 1.500

0EZSE | Wl

PO IWSLND SHY ENOISHIMa TV | ND3 | AB

e OMEE
3dALl OEM

WE il ESINEIHL

S JOVHD E5 1IN ALY “ToRE Ly

O MWL =

14 5571 PSSV

N & b_¥ YIS

SO0 ¥ EHT1INIT 30H
O S = NOWH LN 8351
HONTE LVOOHIOMO "HEIMI

ST ¥ BN YO 3008

00 £ WO 0NV MYSHS (S0NYHI 0L

Hv3d
L11FELIYIS " 1TIMIvHE
} zl T

MY1LNO MG 8L0Z WV3A TI00W

HIVOD HOLOKW HOH.L

Thor Motor Coach
1-877-500-1020
Recall # 18Vv-120/2018-101
Page 5



Thor Motor Coach

Recall Repair Instructions

MOTOR COACH

3.000

3.000

@438

./l\\i R.250

1.500

1.500
REV DESCRIPTION DATE BY | ECN | ALL DIMENSIONS ARE OUTSIDE FORM . .
' . 3 ’ 1 '
INITIAL RELEASE 21508 | TR | 15230 | WAEHALASTM AT011 55 GRADE 35 THOE MOTOR COACH

WELD TYPE:

FINISH: POWDERCOAT BLACK
LASER CUT RADN = 015 UN.O.
BEMND RADI = MIN LLN.O.

TR B _!r.ﬂ

o DATE
1 1 _| 21518

TOLERANCE: SHEAR AND FORM: + .030
HOLE LOCATIONS: ¢ .015
HOLE DIAMETERS: & .005
ANGULAR: £ 1*
FLATMESS: 2 125/5 FT

PLATE, FRAME REINFORCEMENT

Thor Motor Coach

1-877-500-1020
Recall # 18V-120/2018-101

Page 6



Thor Motor Coach

Recall Repair Instructions

MOTOR COACH

BOM

=
o

ary

DESCRIPTION - W x L (GRAIN)

ANGLE. FRAME REINFORCEMENT (TFM54593)

ANGLE, STEEL, STRUCTURAL 1 1/2 x 1 112 x 1/4

BOLT, HEX, 3/8"-16 x 1.5", GRADE §

BRACKET, SEATBELT, FRONT (TFM5452)

BRACKET, SEATBELT, REAR (TFM5488)

12

MNUT, 3/8" - 16, HEX

PLATE, FRAME REINFORCEMENT (TFM5490)

[=d e Rl R R R P A

12

WASHER, 3/8° SPLIT LOCK

4

WASHER, FLAT 3/8" ZINC

SEATBELT MOUNT

REUSE EXISTING SEATBELT

EXISITING SEATBELT BRACKET
ALREADY INSTALLED IN MOTORHOME

DESCRIPTION

DATE

ECN

REV

INITIAL RELEASE

21618

15230

SPECIAL NOTES:

THOR MOTOR COACH

o SHEET o DATE
R 1| 2neis

e ASSEMBLY, SEAT BELT

BRACKET INSTALLATION
|y
MODEL YEAR 2018 29J OUTLAW

B T [

Thor Motor Coach

1-877-500-1020
Recall # 18V-120/2018-101

Page 7



Thor Motor Coach

Recall Repair Instructions

MOTOR COACH

2
22.000 i
| }
10.750
8.750
1.750
— ) |\\
@375
b
N @B
= =
- @
|u||o o
]
wy 18.000
@
- 22000
REV DESCRIPTION DATE BY | ECN | ALL DIMENSIONS ARE OUTSIDE FORM . .
' " y . | 1
- |INITIAL RELEASE 211518 TR | 15230 | TiiimaL ATTM A1011 53 GRADE 36 THOR MOTOR COACH

WELD TYPE:

FINISH: POWDERCOAT BLACK
LASER CUT RADN = 015 UN.O.
BEND RADII = MIN UN.O.

DR BT _E o _-._)._.n

1 21518

[F==F"e  BRACKET, SEATBELT

TOLERANCE: SHEAR AND FORM: = 030
HOLE LOCATIONS: + .015
HOLE DIAMETERS: £ 005
ANGULAR:: 1*°
FLATNESS:® 125/5FT

FRONT

ZO._um_. YEAR 2018 29J OUTLAW

_ ._._u_,._mMmm _Ea.e_

Thor Motor Coach

1-877-500-1020
Recall # 18V-120/2018-101

Page 8



Thor Motor Coach

Recall Repair Instructions

MOTOR COACH

BOM
NO [aTy | DESCRIPTION - W x L [GRAIN) [ SZEA | SZEB
1 | 1 [ANGLE, STEEL STRUCTURAL 1 1/2x 1 1/2x 14 [ | azs
2 o
2 2 &
_ [ 4L
T ? 7 R 4|=H.
== = = =
B8 & 4 %@
9% & = -
REV DESCRIPTION DATE BY | ECN | ALL DIMENSIONS ARE OUTSIDE FORM . .
: K ] v 1 1
INITIAL RELEASE 21518 | TR | 15230 | Hcmess THOR MOTOR COACH
FINISH: POWDERCOAT BLACK TR _ 1 1 _ 211518
LASER CUT RADN = 015 UN.O.

BEND RADI = MIN LLN.O.

HOLE LOCATIONS: +
HOLE DIAMETERS: : 005
ANGULAR:: 1°
FLATMESS:« 125/5FT

TOLERANCE: SHEAR AND FORM: 2 030
015

ANGLE, FRAME REINFORCEMENT

018 29J OUTLAW

Thor Motor Coach

1-877-500-1020
Recall # 18V-120/2018-101

Page 9



